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Supplementary Table S1 : Percentage Convergence, efficiency, coverage and bias for selected
numbers of copies (averaged over 5000 simulated datasets): 85% vs. 60% (RD=0.250).

Number | Converged | Risk difference (RD) | 95% CI for RD
of copies
(K) n (%) | Estimate SE* LL UL | Coverage | Bias
0 4755 (95.0) | 024 0.060 02 [osss | P | oo
930
10 4992 (99.8) | 0204 | 0061 0084 | 0324 0,046
20 4939 (98.8) | 0226 | 0061 0105 | 0346 | | 00
50 4860 (972) | 0227 | 0060 0100 | osas | O | oo
909
100 | 4790 (958) | 0232 | 0060 o114 | 0350 0018
500 | 4701 (940) | 0248 | 0060 030 | o3 | 1| 00
1000 | 4677 (935) | 0248 | 0.060 030 | o3 | 7| 00
1500 | 4668 (934) | 0248 | 0.060 0130 | o3 | | 00
82
2000 | 4656 (93.0) | 0239 | 0060 0121 | 0357 0011
3000 | 4633 (927) | 0239 | 0060 021 [ ossr | | oon
864
5000 | 4609 (922) | 0239 | 0060 0121 | 0357 0011
10000 | 4586 (917) | 0239 | 0060 021 [ossr | % | oon
89
50000 | 4552 (91.0) | 0239 | 0.060 0121 | 0357 0011
100000 | 4537 (90.7) | 0239 | 0060 021 [ ossr | M5 | oon

CI: Confidence interval LL: Lower limitUL: upper limit *SEs were multiplied by \(K) to convert them to
the original scale




